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6. Determine the break-even quantities for each profit function, where x is the
number sold, in thousands. E )CGOJL
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6. Determine the break-even quantities for each profit function, where x is the
number sold, in thousands.
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The flight of a ball hit from a tee that is 0.6 m tall can be mode llcdbyth
ﬂ ﬁ_mct]on b(r) —49:‘ + 6r+ 0.6, wher b(r) th height in metre
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8. The population of a region can be modelled by the function
P(t) = 04¢ + 10¢ + 50, where P(¢) is the population in thousands and
¢is the time in years since the year 1995.
a)  What was the pupulation in 1995.’
b) What will be the population in 20102
) In what year will the population be at least 450 0007 Explain your answer.
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9. A rectangle has an area of 330 m>. One side is 7 m longer than the other.

What are the dimensions of the rectangle? & O%\
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10. The sum of the squares of two consecutive integers is 685. What could the
integers be? List all possibilities.
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11. A right triangle has a height 8 cm more than twice the length of the base. If
the area of the triangle is 96 cm?, what are the dimensions of the triangle?
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12. Jackic mows a strip of uniform width around her 25 m by 15 m rectangular
B 1awn and leaves 2 patch of lawn that is 60% of the original area. What is the

width of the strip?
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13. A small flare is launched off the deck of a ship. The height of the flare above
the water is given by the function 4(z) = —4.9¢” + 92 + 9, where A(#) is
measured in metres and £ is time in seconds.

a)  When will the flare’s height be 150 m?
b) How long will the flare’s height be above 150 m?
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14. A bus company has 4000 passengers daily, cach paying a fare of $2. For cach
$0.15 increase, the company estimates that it will lose 40 passengers per day.
If the company needs to take in $10 450 per day to stay in business, what
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